LIST OF ST STUDENTS ENROLLED IN 1ST QUARTER APRIL, MAY & JUNE 2025

Name of the Course: Diploma in 3D Animation & Graphics

Fees: Rs. 20,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Tejas Shivram Pawar	Shivram Pawar	*******051
2	Tanaji Devram Bhangare	Devram Bhangare	*******094
3	Basavaraj Hanamantray Naykodi	Hanamantray Naykodi	******970
4	Devendra Gorakhnath Dhongade	Gorakhnath Ddhongade	******298
5	Shrawan Santosh Dagale	Santosh Dagale	*******019
TOTAL Rs. 20,000 x 5 = Rs. 1,00,000/-			

Name of the Course: Diploma in Robotics & Mechatronics

Fees: Rs. 20,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Krutik Haresh Bhawar	Haresh Bhawar	*******175
TOTAL Rs. 20,000 x 1 = Rs. 20,000/-			

LIST OF ST STUDENTS ENROLLED IN 1ST QUARTER APRIL, MAY & JUNE 2025

Name of the Course: CNC Programming -Milling

Fees: Rs. 6,336/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Vighnesh Santosh Jadhav	Santosh Jadhav	*******114
2	Meghpushpa Gajanan Ambaji	Gajanan Ambaji	*******033
3	Siddesh Suresh Bhutkade	Suresh Bhutkade	*******963
4	Rohan Hemant Gurude	Hemant Gurude	*******371
5	Milind Arvind Dalvi	Arvind Dalvi	*******358
6	Chandrakant Suresh Naik	Suresh Naik	*******654
TOTAL Rs. 6,336 x 6 = Rs. 38,016/-			

Name of the Course: PLC Programming

Fees: Rs. 6,336/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Tushar Hemant Lahange	Hemant Lahange	******848
TOTAL Rs. 6,336 x 1 = Rs. 6,336/-			

Name of the Course: Technician - Hand Held Products

Fees: Rs. 24,990/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Kirti Gaikwad	Vaman Gaikwad	*******064
2	Raj Jagtap	Ashok Jagtap	*******302
	TOTAL Rs. 24,990 x 2 = Rs. 49,980/-		

LIST OF ST STUDENTS ENROLLED IN 1ST QUARTER APRIL, MAY & JUNE 2025

Name of the Course: Asst. Operator - CNC Milling (Tool Room)

Fees: Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Akshay Sajan Kokani	Sajan Kokani	*******413
2	Rutwick Machhindranath Pawar	Machhindranath Pawar	******441
TOTAL Rs. 29,400 x 2 = Rs. 58,800/-			

Name of the Course: Jr. Designer - CAD/CAM

Fees: Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Gawali Bhavesh Laxman	Gawali Laxman Yashwant	*******699
2	Hile Ganesh Balkrishna	Balkrishna Shivaji Hile	*******396
3	Gawari Rahul Kalu	Kalu Sakharam Gawari	********645
TOTAL Rs. 29,400 x 3 = Rs. 88,200/-			

LIST OF ST STUDENTS ENROLLED IN 1ST QUARTER APRIL, MAY & JUNE 2025

Name of the Course: Jr. Designer - Tool

Fees: Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Rajput Avinash Mirya	Mirya Jatrya Rajput	*******374
2	Jamadar Rubiyabi Dalmir	Dalmir Kalekha Jamadar	******219
3	Puram Ankur Suresh	Suresh Bajirao Puram	******461
4	Raghatwan Rahul Kisan	Kisan	*******668
5	Chetan Maruti Paradhi	Maruti Valu Paradhi	*******630
6	Ghode Ajay Kailas	Ghode Kailas Jagannath	*******080
7	Bhangle Swapnil Sakharam	Bhangle Sakharam Ganu	*******556
TOTAL Rs. 29,400 x 7 = Rs. 205,800/-			

Name of the Course: CNC Programmer - Tool Room

Fees: Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Parhyad Saurabh Shidwa	Shidwa Vajya Parhyad	******433
	TOTAL Rs. 29,400 x 1 = Rs. 29,400/-		

Name of the Course: Jr. Technician - Inspection & Quality Control

Fees: Rs. 29,400/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Nandini M. Birari	Madhav Birari	*******158
	TOTAL Rs. 29,400 x 1 = Rs. 29,400/-		